Introductory Statistics HW # 10 Solutions for Problems (4, 10, 16, 17, & 18)
Dr. Crutcher '

@ é&) Cts “H\L &LQWML\QDQWML J(&kd W MUcnd x'm'OLQCuLs/J/
%‘L Valug &e Yng -Mée\@'/\é%j‘-wxzamw tfé(rv:i\% 5‘\cr&isjﬂc_
LN
5 (i Ue vl f Y veos vn e o

) <o
5(AW\(3\€3 [ N AL c42d ( re. UOL/Q«(AQ (f( L'(DL r AQLQV_,&‘/LC[#{{%,/

ol et (4.«/: 7%4
Lo w - =do (et @_2” s 450

7osp

Coled Ha"(‘
# ) IWMQ gnroers




! TIYMTAe T Sheisiic d(/ﬁf\ SCW/\TLLL N\CUT 4

p.2
= X, =X - -
Eob(_ C z,) </ut le
St-x
d .
S} 2 4 - - SS 4+ SSL
Sx : \{ — + ?‘—F\/@ B
~X
Z ﬂ( V\Z_ C{‘F .L_Cl'lL\z
- ([Ro 1+ amO
R
L5 10 12
3
= t+3 =19 :23 O
—L = té:?—-aq - LO) - IR 2367
3 .

?—S W&_ \XP QJQ_QO.WQJL chg‘r 6‘—( 360 s n -\-‘m, Cﬂjnca\ v\eaiov\

»}}(omCchwa . ﬁuﬁgm M?}u/&(cm&f/ mwm@é/ ‘z% e lor ,/

WW«Q {(/3) 267, 7-< o5

gW '711 /%ZM«C W&zdaé m.,(i'u’ %
" Mess sD~55) U, s 2B Sy (/‘1” 2‘/ ‘2- "55')“‘4‘“%
Wue e .zvfw;%’éﬁce/(/ ,(/714//;('9/47[ zﬁ(/.s) fé? F‘< 05



R i W 2 s

Peck o Dollde & Corme Clecn O ccwdg
) ¢ ‘)?‘—‘: 40y iwj fl = 51
| l.l'chpav\
35S = 500 35, = \Oiteo
| n: - 1O n, = 20

Ser o ,
T L\@: M -4 = O C Pollodion dees wi g@?ﬁéf?
: ('("\Te ex(; ec%a. " c,j >

lLl: M\_Ma# O < ?a\\‘i‘"lé‘af\ e ecRs \.&C fﬁ{&/&aj

L= o
: 5"&\2 ¥W‘\A O\A\‘ \;ef‘a;on C&.‘Q: AK(; A,%z = &i+ (a4 = X3

.ol
+ > 293 |

o

L £ -2 2% b ane

JEebF- =




p. 4

i
S :
| | V} - _i_?:_ 5, = 53, +35.
B o +41.

- _ = O
Si = \( SHp &= 4G o020 10 ©°

AL

.y = Czem

i -

| M& \kz, _QQQQMAL/ %0\4{_ "«’“Q ‘%,Q‘j s\~ W/
QP‘\B‘.‘\Q(SLQ /ULW , | |

>CMQMSW\ Prtlene A@@%JM e @«/m

T LS on L exmelancy Z(28) =730 g0

o T

e/%mémy/ Ay 2l e H W/

Q'CQ &ddd -«%
7 wer W«;e (=979, D232C)

,/ ey
/ Cﬁ%é” f)// so% oz3a> o 9,,;4:7”%'
G erce , é(z;?)—-~357 P“ o



D'U\’Stl"s' w\( | C . \ﬁ O " |
5 wa?o\ ':;u\DL# \i";\ /Ul p.5

o ] g
0 T g
| LG .’OO 5 as
; ;’CT Y
, y ‘
S 25 I
o) 14y G a6
\ 14 L — 2s '
i:: Y VA Jxz d2 Sx=222_
V.= (.Y

X, = iy
2 | )i )L
55( = Sx'- @%\ | = A <Vi

N ) 2
= qae - T 22
6 — _,x_ =
7 = 222 — 204.%
= 26~ AW -
2 'a‘e.czg - )
Step L L
B l-& A il (4@ WMM#ALW/M
S J' \ P @/0? /{,W VZOW'(J“”M
». L F ol

| ../:/I‘On 'a‘ww "



A % V\d. b(‘\\v\cﬂ “*’8\0“ éf: &{:t 'HH;L &.é_ p- 6

_ ‘ =N |
C:l\; Fca)‘o‘/\ﬁ - = (6 / l \
1L > 2.22% ( ’

JCO; -2-22% | -2z £ 2207
>1V€, %‘M/v\. SMVYL(ZQ_ ((J;c\ < Com'ru‘ﬁ-f Jr B*CGXV §(_\Q _,,‘,/‘//
o
_E - Q -X, ) ((‘At > f Sx\xé __4—_1_
b ( n ",
> -7 |
iy - ¢.4 55 +SS.
= [ ' — . ’3
JfobL Q?_\ S dt + QD
1S9
'36 86 + 19 1
- K.y - 2.9%9
\- 59
P8 Nt |, bacee £t o 278 -

s V‘?z}w%
536“&;;”; 30(7 @W Ocvrried mealy.

#‘MWA Mo dachrn ov Wy{,
(M= 6%, D= 1.9%) Uhoam 1ON~ d0ontes

( /%r'w///zx SD= 1/ ;ec), o vzof%;écrrj - )‘"'995_

MW/' 5(/o)= 2.9 . p <. 0%




Stimdus oot Gm“‘{\) Stmudus ik Grow p p.7

() fomre oo 2 _ o
e e Y
n =(U 9 29 24 S0
26 j 27 ‘
S 13
3¢ 3
L2 5
- 40 ‘ v
X, 4. 2 3¢ 2 C ><z. 6.0
2.9 33
39 s s
3o A,
XT3t 2x= fow WO =Y
Tx" - (ixy 5, - 0T - CZJ:)_L
1) - -
= o0 - 32 2 (A7 - 2c
l(} 10
= oo -\WAY = &2l
3130
-

é(—fii‘l.& U -M =0 C%UWWMM\:/% Wé)

e Mo T . .rﬁm(wo(/zw@mgﬂ%#m,(

= ,0l %(_,u)//m-,orc/4(ug§l _,(f ’//rr /}—dw/t




p.- 8

\‘ ) l 0 O 'll"=d'$| At I
STep2 Low By FENSTG m\\ .
A WL

1<~ 298 &« £ > v 2.8%W
f o

' | - 919
S&‘ﬂﬁ Collock SMVCJQQ_ Qe Com%_ﬂ,z@ -+ LAY
_LOH, - (_\><l —;ZLD T é/tll -HV>>
S, -
S S ?L <
s >p
- (34 2= Q6 OB ,x‘d\" ;(— ’ )
EEES |
. -G 53 S35
5{3:(;_‘{ W@% b e —E%a{ 330 |
[P CG‘QL o \‘g\ = ?)(SL -+ '2(‘{
K \ [
[OVICQM5\‘CV\‘ . | : ch. >
, M/umwwv?/mw{a 7@0*&( L7 S - \Zﬁ.}_fzj_ﬁ_
weraoye (#7= a6 SD=.99) Hewn AT e
/(oocc,ac/ G/z o WM~?M Wammﬂ[ _
-

Cor= w2, D5 L)z 2575 5a0





